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The figur* in the mo,rgin lndlcate
full marks Jor the guestiorts.

Answer o;ng froe quesfiicns.

1. (o) Briefly answer tlie followlng questions :

. 2x7=14

(i) Why radio waves are most sultable
for mobile communlcaUon ?

@ What would be the minimum rleuse
distance between the centres of
two cells with t]le same band of
frequencies if cell radius is l km
and the reuse factor ls 12?

(ur] What is the difference between
hard handoff and soft handoff?

Contd.



(iu/ What do you mean by frequency
hopping ?

(u) Why routing ln MANET is
different ?

(ui,l Can we slmply use the tradittonal
TCP over a wireless link ? JustiSr
your Elnswer.

(uir,l What is the difference between
transparent and non-transparent
bearer service ?

@ Discuss the limitations of wireless
cornmunlcations. 6

2. (a) Draw the GSM architecture and e;cplaln
the enflUes of NSS. r0

(b) Explain the basic scheme of CDMA
system with suitable example.

10

(a) Explain the steps involved in call
delivery procedure in GSM network in
the following cases :

(i) Mobile terminated call
(i0 Mobile originated call.

8+4=12

3.
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b)

(a)

b)

4.

Discuss tlee services provtded in GSM
for the subscrlbers. 8

When do hldden and exposed terrnlnals
problem arlse ? Explaln your answer
with suttable examples. 7

What is handover ? What are the baslc
reasons of handover ? l+2=3

(c) What do you mean by agent
advertisement and agent sollcltatlon ?

Explain IP packet dellvery to and from
a mobile node. 4+6=10

What are ttre drawbacks of Indlrect
TCP? Explatn Snooplng TCP.

3+7=10

Explain Dynamic Source Routlng in
MANET wtth a suitable examPle. How
route caching ts useful in DSR?

7+3=lO

What ls MDS ? What are tJre query
qlpes ln MDS? Gtve example for each.

3+5=8

(a)

(b)

5.

(a)6.
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@ Draw and explain ttre WAP archltecture.
7

(c) What are the uses of EIR and AUC ?
5

7. Write short notes on the followlng :

'(ang tzllo) IOx2=2O

0 GSM TDMA frame structure

@ Securlty in MANET

(tid Database hoarding.
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